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We	
  are	
  going	
  to	
  use	
  the	
  same	
  process	
  as	
  in	
  Section	
  5.1,	
  but	
  now	
  we	
  have	
  an	
  equation	
  instead	
  of	
  an	
  
expression.	
  	
  Here,	
  we	
  want	
  to	
  PROVE	
  or	
  VERIFY	
  that	
  the	
  left	
  side	
  of	
  the	
  equation	
  equals	
  the	
  right	
  
side.	
  
	
  
Recall:	
  ALL	
  of	
  the	
  identities	
  we	
  learned:	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
	
  

	
  
	
  
	
  
	
  
	
  
TIPS….	
  

• Work	
  with	
  one	
  side	
  of	
  the	
  equation	
  at	
  a	
  time	
  (start	
  	
  
with	
  the	
  more	
  complicated	
  side)	
  

• USE	
  THE	
  IDENTITIES!	
  
• If	
  having	
  trouble…get	
  in	
  terms	
  of	
  sines	
  and	
  cosines	
  

	
  
EXAMPLES:	
  	
  Verify	
  the	
  identity	
  
	
  

1.	
  
! 
sec2 ϑ−1
sec2 ϑ

= sin2 ϑ 	
   2.	
  

 !

1
1− sinα + 1

1+ cos π
2
−α

⎛
⎝⎜

⎞
⎠⎟

= 2sec2α 	
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3.	
  
 ! tan

2 x+1( ) cos2 x−1( ) = − tan2 x 	
   4.	
  
 !
cot π

2
− x⎛

⎝⎜
⎞
⎠⎟
− cot −x( ) = secxcscx 	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

5.	
  
 !
sec −y( )+ tany = cosy

1− siny 	
   6.	
  
 !
cot2 ϑ

1+ cscϑ = 1− sinϑ
sinϑ 	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
HW:	
  p.387:	
  #1,	
  5,	
  10,	
  13,	
  23,	
  27,	
  29	
  


